3[EER (Q—RFDER) ]

H&EAB EREEBABR = #¥
RiET#f & |2 ® £ O—X4 (B&fHd) (B) IS fEE
(A B & &t (B/A)
I K ix nmyst = 56 22 70 92 1.64
=5 H WS E X 29 9 20 29 1.00
NEF |FA &R =i 56 15 37 52 0.93
wo oA B EE 56 12 72 84 1.50
NE P F5 E & 56 22 67 89 1.59
HEHEH |R H m|C &L tERR 55 31 35 66 1.20
a—RH & 308 111 301 412 1.34
A[EER (BAHDFER) ]
BHEANE REEHEAE = #
RiEME |2 K & (B&fHT) (B) SEfEE
5 T it (B/A)
o oE # ] 284 353 302 655 2.31
B R 2 fi] 124 48 97 145 117
= H = H Jn 252 160 168 328 1.30
X H E3 ] 188 100 101 201 1.07
HEAR |5 1E 220 141 219 360 1.64
it AL 5 170 29 89 118 0.69
wRE R B F & 188 118 87 205 1.09
"% X R ¥ 188 48 135 183 0.97
NEF | 5 188 117 123 240 1.28
E o3 7 ¥ 252 213 191 404 1.60
g+l | £ K 188 96 145 241 1.28
B A W E 2,242 1,423 1,657 3,080 1.37




S[EEH (BMRELEREMR)]

- YN - RREHEAE B #
RiErfE |2 K& (BzfHT) (B) SEfEE
(A) 5 L8 &t (B/A)
& = M 18 29 21 50 2.78
X = (v == 13 12 8 20 1.54
A % =] £ =) 13 14 5 19 1.46
o B R E 44 55 34 89 2.02
IR |FE N 6 1 0 1 0.17
"% ¥ I 6 0 0 0 0.00
NEF | T % 6 0 0 0 0.00
51 & xt & & 18 1 0 1 0.06
BMREAERE 62 56 34 90 1.45
- YN - R HEAE = #
(A) (B) IR S
5 = H 5 T &t (B/A)
8 & A & 11,455 10,593 22,048] 17,400 16,384 33,784 1.53
BLEHY & - - 2612 1590 1992 3582 1.37
TR M G - - 24,660 18,990 18,376 37,366 1.52




